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B
Model Test 1

Part I Listening Comprehension (15 minutes)
Directions: This part is to test your listening ability. It consists of 3 sections.
Section A
Directions: This section is to test your ability to understand short dialogues. There are 5 recorded
dialogues in ir. After each dialogue, there is a recorded question. Both the dialogues
and questions will be spoken only once. When you hear a question, you should decide on
the correct answer from the 4 choices marked A), B), C) and D) given in your test
paper. Then you should mark the corresponding letter on the Answer Sheet with a single
line through the centre.
Example: You will hear:
You will read; A) New York city.
B) An evening party.
C) An air trip.
D) The man’s job.
Jfrom the dialogue we learn that the man is to take a flight to New York. Therefore, C) An
air trip is the correct answer. You should mark C) on the Answer Sheet. Now the test will
begin.
1. A) He’s willing to read the report.
B) He wants to know where the report is.
C) He doesn’t want to stop reading.
D) He doesn’t know what to do.
2. A) Jane won’t come.
B) Jane will be late.
C) Jane doesn’t want to come.
D) Jane will come on time.
3. A) He refuses to lend the money.
B) He agrees to lend the money.
C) He is sorry for not being able to lend the money.
D) He is glad to lend the money.
4. A) She’s counting the number of vacation days.
B) She’s spending over her accounts.
C) She’s going home for only a few days.
D) She’s eager to go home.



5. A) The man and woman shopped all over town.
B) The woman bought some bedsheets on sale.
C) The man sold the woman some expensive bedsheets.
D) The woman went to many different stores.

Section B

Directions: This section is to test your ability to understand short conversations. There are 2 recorded
conversations in it. After each conversation, there are some recorded questions. Both the

conversations and questions will be spoken two times. When you hear a question, you
should decide on the correct answer from the 4 choices marked A), B), C) and D)
given in your test paper. Then you should mark the corresponding letter on the Answer

Sheet with a single line through the centre.
Conversation 1

Questions 6 to 7 are based on the conversation you have just heard.

6. A) April 13"
B) May 14",
C) June 16".
D) August 18"
7. A) For over one year.
B) For almost two years.
C) Kor nearly three years.
D) For about four years.
Conversation 2

Questions 8 to 10 are based on the conversation you have just heard.

8. A) To check into the hotel.
B) To have a word with the manager.
C) To have a room with a bath.
D) To have his hair cut.
9. A) The man’s firm.
B) The woman’s manager.
C) The man.
D) The woman.
10. A) To write a letter to the firm.
B) To check the booking for the man.
C) To reduce the charge.
D) To find him a room with a bath.
Section C

Directions: This section is to test your ability to comprehend short passages. You will hear a recorded

passage. After that you will hear five questions. Both the passage and the questions will

be spoken two times. When you hear a question , you should complete the answer to it with

a word or a short phrase (in no more than 3 words). The questions and incomplete an-

swers are printed in your test paper. You should write your answers on the Answer Sheet.

Now this is the passage.



Questions 11 to 15 are based on the passage you have just heard.
11.

12. Because they hardly get a chance
13.
14. People are not really

15. Because it only needs before eating.

Part 11 Structure (15 minutes)

Directions: This part is to test your ability to construct grammatically correct sentences. It consists of
2 sections.
Section A
Directions: In this section, there are 10 incomplete sentences. You are required to complete each one
by deciding on the most appropriate word or words from the 4 choices marked A) , B),
C) and D). Then you should mark the corresponding letter on the Answer Sheet with a
single line through the centre.
16. This is one of the most beautiful songs ! _ I have ever heard.
A) what - C) that
B ) which D) as
17. He has been interested in computer since his childhood, so he specialized ]E computer

science when he was in college.

A) on C) for
B) at D) in
18. You cannot be [2 careful when driving a car on the superhighway.
.A) very C) so
B) too D) enough
19. It was not until he had arrived home he remembered his appointment with the law-
yer.
\A) that C) when
B) where D) which
20. [ [ put down the receiver when the telephone rang again.
~A) Scarcely did she C) Scarcely she
B) Scarcely had she D) Scarcely she had
21. The patient knew nothing about his illness the doctor told him.
A) after ¢) Antil
B) while D) since
22. The easier the problems are, ﬁ 'C/abie to solve them.
A) I am less likely ~C) the less likely I am
B) less likely I am We less likely am I
23. __more time, we will be able to come up with a better solution to the problem.

leen L Giving



B) To give D) Be given

24. for their help, we would not have overcome the difficulties.
A) Weren't \C)/Hadn’t it been
B) Had it not been D) Had it been not
25. The construction of the laboratory by the end of the year.
A) will complete N ill be completed
B) will have completed ywill have been completed
Section B

Directions: There are 10 incomplete sentences here. You should fill in each blank with the proper form
of the word given in the brackets. Write the word or words in the corresponding space on
the Answer Sheet.

26. Because of a ( short) $Lw‘7t' of funds, we have to give up the project.

27. 1t is such a (delight) day that we ought to go for a picnic.

28. The greatest (injure) 2/1\ " a(y one man can do to another is to make him feel that he is worth-

less.

\

29. 1 kept telling him to avoid ( make) _ — w< _ the same spelling mistake in his composition.

30. The hotel has a special department to deal wjth customer ( complain) -4
31. I didn’t see you at the party. If you ((:(m}\% SOM~ T would have introduced him to you.

32. The general was satisfied that two soldiers tried to pass by the enemy’s camp without (notice)

33. My friend offered (drive) '» —~ me to the railway station but I preferred to walk there.

34. With the problem (settle) /ed , our business relations between the two companies have
improved.

35. By the end of the month, he (finish) :NN\ his training course in the university.

Part 111 Reading Comprehension (40 minutes)

Directions: This part is to test your reading ability. There are S tasks for you to fulfil. You should
read the reading materials carefully and do the tasks as you are instructed.

Task 1

Directions: Afier reading the following passage, you will find 5 questions or unfinished statements,
numbered 36 through 40. For each question or statement there are 4 choices marked A) ,
B), C) and D). You should make the correct choice and mark the corresponding letter
on the Answer Sheet with a single line through the centre.

In order to learn a foreign language well, it is necessary to overcome the fear of making mis-
takes. If the primary goal of language use is communication, then mistakes are secondary considera-
tions that may be dealt with gradually as awareness of those increases. On the other hand, students
should not ignore their mistakes. The language learner may observe how native speakers express
themselves, and how native expressions differ from the way the learner might say them. For exam-
ple, a Spanish speaker who has been saying “I do it” to express willingness to do something in the
immediate future, could, by interaction with native speakers of English, observe that native speakers

4



actually say “I’ll do it”. The resulting discrepancy (225 ) can serve as a basis for the student to
modify his way of using the present tense in English. But a student who is unwilling to interact in the
first place would lose this opportunity to learn by trial and error. N
36. According to the passage, what is the present tense in English? [;
A) It is used with some verbs but not with others to express future intention.
B) It is not used to express a desire to do something in the immediate future.
C) It is basically the same in English as it is in Spanish.
-.)) It is not the most difficult problem for foreign students.
37. According the passage, language leamers can reduce the number of their mistakes
by
A) reading/good books in the foreign language
B) speaking without regard to native speakers
-+ C)- asking native speakers for explanations
D) comparing their speech with that of native speakers
38. According to the passage, foreign language students who do not interact with native speakers
will NOT
A) learn very much about the foreign culture
B) /{ake advantage of available language models
C)’ learn about the history of the foreign languages
D) have to worry about making mistakes
39. According 1o the passage, why foreign language students should not worry too much about mak-
ing mistakes? Because
A) everyone makes mistakes when trying to communicate in a strange language
B) native speakers like foreign students who try to learn their language
C) native speakers will ignore their mistakes
. \Mommunication is the primary goal of language learning

40. In the end, the author told us about the function of mistakes in foreign language leaming is that

\;) Zaking mistakes can help the learner discover the rules of the language

B) mistakes are not important in the process of learning a language

C) learners are often very afraid of making mistakes

D) native speakers often do not tell foreign language learners about their mistakes
Task 2
Directions; This task is the same as Task 1. The 5 questions or unfinished statements are numbered

41 through 45.

Today a pilot is totally dependent on what the air traffic controller on the ground tells him. He
can’t see enough to be safe. Flight watch is an instrument intended to help him.

On a screen in front of the pilot, there will be a map of the airspace around the plane. The pi-
lot’ s own flight level or height and his own plane at the center of the screen will show up. On the
map any other planes in the airspace will appear as blobs of light with “ tails” showing the direction

5



of their flight. The Flight watch map is unusual, for the other planes are not shown at their true ran-
ges, but at their distances away in flying time. That gets over the problem of fast planes being too far
away to be seen but likely to make contact in seconds and slow planes that are close enough to be
seen but so slow that there’ s no chance of contact for, say, ten minutes.

The pilot will be able to see on the screen whether another plane’ s course conflicts with his
own. The screen will show him the flight number of the other plane, so he can contact air traffic
control and ask them about the other plane’s course. Then he can take avoiding action if necessary.
The screen will show him whether his action puts him in danger from yet another aircraft.

Technically, the system will be quite complex. Computers will be necessary on the ground and
in each aircraft to enable Flight watch to collect data about the planes’ courses and to calculate the
distances between planes. But such small computers are now quite cheap, simple and reliable.

41. For his safe flight, what is a pilot dependent on?
N A)/Flight watch.
' \BJ) The air traffic controller in the plane.
_ C) The command of the air traffic controller on the ground.

D) The pilot himself.

42. Which of the following can help the pilot to keep contact with the air traffic controller?

"A) The screen. C) The passage doesn’ t mention it.
B) A computer. » D) Flight watch.
43. The Flight watchis __ to use. i
\A/quile complex C) expensive
~_B) quite simple B) cheap
447-The main parts of the Flight watch are .
- A) computers C) boobs and tails
. ' .B) ascreen and certain computers 'D)/a Flight watch map and small computers
4? g computers are .
ﬁ small C) large
B) neither large nor small D) not mentioned
Task 3

Directions: The following is an introduction to a company. Afier reading it, you are required to fill
in the blunks below ( No. 46 through No.50). You should write your answer briefly (in
no more than 3 words) on the Answer Sheet corresponding.

It is a great pleasure to have you visit us today. I am very happy to have the opportunity to in-
troduce our company to you.

Mr. Li Ming established our company in 1960. We specialize in manufacturing electronic goods
and exporting them all over the world. We grossed about US$ 150 million last year, and our busi-
ness is growing steadily. Our offices are in North America and Europe, with about 900 employees,
and we’ re working diligently to serve the needs of our customers.

In order to further develop our overseas market, we need reliable agents to market our prod-
ucts. | hope you will seriously consider doing business with us. Thank you.

6



% The company specializes in the field of 46 .p[ﬂfhm{ c 7,9045 .
| Profit of last year is 47 [f0 0,000,000
i The company has branches in [ﬂS nd Europe.

S|

About q&? persons are employed.
Purpose of this introduction is to look for reliable agents to 50

Task 4

Directions: The following is a list of business terms. After reading it, you are required to find the
items equivalent to ( 5+ G &Y) those given in Chinese in the table below. Then
you should put the corresponding letters in the brackets on the Answer Sheet, numbered 51
through 55.

A — Shipper

B — Quantity

C — Means of transportation
D— A freight agent

E — Date of inspection testing
F — Marks & Numbers

G — Destination

H— Commodity

I — Goods; freight

J — A shipping agent

K-~ In wet condition

L — Goods traffic; freight traffic

Example: (B) ¥ (E) ek AF%
st ¢ A) RHEA ( D) &EA
52. (b)) temizt () BiEHA
53. (1) RRAM ( ¥) e
54. (¢ ) BWILA (7)) %Y
55. (g ), Bidh S FF (T MEREA

Task § / N

Directions: There is @ BUSINESS LETTER here. After reading it, you should give brief answers to
the 5 questions ( No. 56 through No.60) that follow. The answers (in no more than 3

words) should be written afier the corresponding numbers on the Answer Sheet.
May 16, 2001
Dear Sirs,

Your name was given to us by Messrs. Ito & Co., who has been our regular customers for
NER S e

some years. We understand that you are one of the ]argest “manufacturers of hand-made art and craft

e SN

/plid./d.l.lhl_lﬂ your country, and we want to avail this of oppodumty to express our hope of entermg busi-
ness relations with you.
We are the leading dealer in art and craft products in this district where Chinese hand-made art
7



and craft items are especially popular. Will you please send us a copy of your catalogue and current
g

_—

price list for your art and craft products? ——

We have recently received many inquires from our retailing shops about the said items. We are
sure there would be brisk demands on our side. If the quality of your products is satisfactory and the
prices are reasonable, we will place regular orders considerably large numbers.

We would like to know whether you are able to allow us a special discount, say 6%. This
would enable us to maintain the favorable selling prices in this area.

We are looking forward to hearing from you in the near future.

Yours sincerely,
56. How did the addresser ( 5{£ A) know the addressee’s (UX{E A) name?

From

57. What kind of product does the addresser deal with?

products.

58. What does the addresser ask the addressee to send?

A copy of catalogue and

59. What favorable treatment does the addresser ask for?

A special
60. If the business relation establishes, what shall the addresser do?
They will for considerablly large numbers.
Part IV Translation (25 minutes)

Directions; This part numbered 61 to 65 is to test your ability to translate English into Chinese. Each
of the four sentences ( No. 61 to No.64) is followed by your choices of suggested transla-
tion marked A), B), C) and D). Make the best choice and write the corresponding
letter on the Composition/ Translation Sheet. Write your translation of the paragraph
(No. 65) in the corresponding space on the Composition/ Translation Sheet.

61. Take care of the penny and the pound will take care of themselves.

A) R/NFEHERMGF
B) A/NHEEE.

XOY INEEE, KFNF.
D) K/MHEREFR,

62. Fine quality as well as low price will help push the sales of your products.

A) SFRRE RO R R R Ak

~BY' A B f0 R BRIAEAAG 0 4 7 BY T HERE o
C) SFBRAUK A4 BHE AR A 7™ B BB i o
D) kR AR MEB AR M IEHE B TIRHEHRAT ™ G o

63. He,felt upset and almost as if he alone were responsible for what had happened.

fRBIR K, M REME— AN ERFEHATIE.
B) REIAE, BEFFEM A~ ANRAERHEERFTL.
C) fRBIRAH, MirgAaCEREENEHERRE,



D) fBBIA%E, MiF R B CERRENFHERTFE,
64. This year they have made by far greater progress in business than they did last year.
A) A% BRI A S,
B) fufi 1S FHLEFEHRKTRE,
C) Sl FHRSEFHLEMKRE,
A 1S4k 5 SR K LR ERBZ
65. [ propose a sole agency agreement for T-shirts for a duration of three years; 700, 000 pieces to
be sold in the first year, 800, 000 pieces in the second year, and 900, 000 pieces in the third
year. As to the commission, you know that all our agents in this line are getting 4% . But to

help you push sales, we can make an exception and give you 5%.

Part V Writing (25 minutes)

Directions: This part is to test your ability to do practical writing. You must read the following pas-
sage and then write a MEMO (& )5R) of the passage according to the messages given
in Chinese. Do your task in the corresponding space on the Answer Sheet.

The messages given in Chinese;

RIMAERATF -6d, FEEEEXGHE, HRRTUBR,
B
AL
AE - BEH
20027 H1H



Model Test 2

Part 1 Listening Comprehension (15 minutes)

Directions: This part is to test your listening ability. It consists of 3 sections.
Section A

Directions: This section is to test your ability to understand short dialogues. There are 5 recorded

dialogues in it. After each dialogue, there is « recorded question. Both the dialogues
and questions will be spoken only once. When you hear a question, you should decide on
the correct answer from the 4 choices marked A), B), C) and D) given in your test
paper. Then you should mark the corresponding letter on the Answer Sheet with a single

line through the centre.

Example: You will hear.

You will read: A) New York city.
B) An evening party.
C) An air trip.
D) The man’s job.
Sfrom the dialogue we learn that the man is to take a flight to New York. Therefore, C) An
air trip is the correct answer. You should mark C) on the Answer Sheet. Now the test will
begin.
A) No more than two.
B) One at a time.
C) Three at most.
D) As many as he likes.
A) Food is cheap in England.
B) Food is simple in England.
C) Food is expensive in England.
D) Food is fine in England.
A) In the garden.
B) In the school.
C) In the playground.
D) In the street.
A) He will be a doctor.
B) He is in hospital.
C) He doesn’ t like his profession.
D)) He wishes to be a manager.
A) Sally’s experience.
B) Sally’ s subject.
C) Sally’s attitude.
D) Sally’s knowledge.
10



Section B
Directions: This section is to test your ability to understand short conversations. There are 2 recorded
conversations in it. After each conversation, there are some recorded questions. Both the
conversations and questions will be spoken two times. When you hear a question, you
should decide on the correct answer from the 4 choices marked A), B), C) and D)
given in your test paper. Then you should mark the corresponding letter on the Answer
Sheet with a single line through the centre.
Conversation 1
Questions 6 to 7 are based on the conversation you have just heard.
6. A) It was not too hot there.
B) It was not crowded.
C) It was located in a beautiful city.
D) It suited his whole family.
7. A) Both of the speakers like lots of organized activities.
B) Parents always consider the children’s interest first.
C) The man will find a place 10 suit all his family this year.
D) The woman will go to Greece on holiday.
Conversation 2
Questions 8 to 10 are based on the conversation you have just heard.
8. A) From 6:00 to 7:00 in the moming.
B) From 6:30 to 730 in the morning.
C) From 6:30 to 7:30 in the evening.
D) From 7:00 to 800 in the evening.
9. A) In the classroom.
B) In her own room.
C) 1In the open.
D) In the sports ground.
10. A) Experiments.
B) His homework.
C) Physical exercise.
D) Some reading.
Section C
Directions: This section is to test your ability to comprehend short passages. You will hear a recorded
passage. After that you will hear five questions. Both the passage and the questions will
be spoken two times. When you hear a question, you should complete the answer to it
with a word or a short phrase (in no more than 3 words). The questions and incom-
plete answers are printed in your test paper. You should write your answers on the Answer
Sheet. Now this is the passage.
Questions 11 to 15 are based on the passage you have just heard.
1. Tris

11



12. Going outdoors and sports.

13. In , they won Rugby (#{#¥K) World Cup.
14.
15.
Part 11 Structure (15 minutes)

Directions: This part is to test your ability to construct grammatically correct sentences. It consists of
2 sections.

Section A

Directions: In this section, there are 10 incomplete sentences. You are required to complete each one
by deciding on the most appropriate word or words from the 4 choices marked A) , B) ,
C) and D). Then you should mark the corresponding letter on the Answer Sheet with a

single line through the centre.

16. I could have come to the party yesterday, but I an appointment.
+A) ‘had C) had had
B) would have D) have
17. Mary was unhappy because everyone was invited to the dance her.
A) beside C) besides
B) for \%
18. Tobacco, as well as alcohol taxed in most countries.
A) are \(‘:)/é
B) being . D) were
19. Not until the police arrived Z>\ .
A) djd the crowd go away C) the crowd went away
B)/had the crowd gone away D) the crowd had gone away
20. Make gure that the students are informed of the jest results .
’@2{‘ possible as they can \C)/rs/ston as possible
B) as soon as it is D) as possible as soon
21. They found some gold. at the entrance. There was more inside the cave.
A) s Q)/B&
".B-ﬁ,any D) lot of
22. , man wouldn’t be able to save it.
A) The earth were to disappear €) Were the earth to disappear
B) Were to disappear the earth D) Was the earth to disappear

23. If you agree to take part in the contest,

A) sodol %) ;0 will |
B) I will also I will so

24. By the time he takes the final exam, he more than a hundred lectures in this term.
A) will attend C) hgs attended
B) had attended Q)/will have attended



